

PRODUCT LIST 2025

TAKE AWAY – DELIVERY PP containers for hot / reheated food

These containers have the following characteristics:

- Material: Fully recyclable PP, containing 30% less organic matter.
- Cap Lid Temperature Limits: Resistant to temperatures from -18 to +100 degrees C.
- **Microwave:** All utensils in this range are suitable for microwave use (with their lids).
- Caps Lids: They are made of PP and provide excellent waterproofing so that no leaks from salads and liquids can be observed.
- All Fastpac lids are equipped with a vent hole to prevent moisture and contents from being completely visible, also the lids do not open when reheated in the microwave.

The hole allows the steam to release without cooling the food.

• The same lid can be applied to more than one container, because many containers differ in height and have the same diameter.



Advantages:

- Fastpac containers are hand washable, so the end consumer can reuse them at will
- Keep food warm and fresh for a long time from baking time.
- 30 containers and lids are available in squares, rectangles and round shapes, from 1 to 3 compartments, ideal for all meals, from appetizers, potatoes, hot dishes to soups and full meals.

Certification: All utensils are qualified and **certified for food contact**.

Use: All containers can be hand washed and reused by the end consumer.



Photo	Code	Description	Dimensions	Cartons	Pieces/	€/
7	7A112	Rectangular	(L x W x H cm) 20 x 13 x 4	/pallet 20	carton 6 x 50 =	carton
		container			300	
		375 ml				
9	7A116	Rectangular	20 x 13 x 5	20	6 x 50 =	
	77110	container	20 / 13 / 3	20	300	
		500 ml				
_	52A71	PP DOMED	20 x 13 x 5	20	6 x 50 =	
	52A/1	Lid for containers:	20 X 13 X 5	20	300	
(Mary and		7A112 & 7A116				
_						
	78120	Rectangular container	23 x 17 x 4	16	4 x 75 = 300	
		600 ml			300	
	78130	Rectangular container	23 x 17 x 5	14	4 x 75 = 300	
		900 ml			300	
					_	
	52871	PP Lid for containers:	23 x 17 x 2	24	4 x 75 = 300	
		78120, 78130, 78229			300	
	78229	Rectangular	23 x 17 x 5	14	4 x 75 =	
		container , 2 compartments			300	
		600/300 ml				
	52872	PP Lid for container:	23 x 17 x 2	24	4 x 75 =	
		78229			300	
	78330	Rectangular	23 x 17 x 5	14	4 x 75 =	
		container , 3			300	
		compartments 450/240/210				
		ml				
	52873	PP Lid for container:	23 x 17 x 2	24	4 x 75 =	
8		78330			300	
-	71146	Rectangular	28 x 20 x 4	18	3 x 50 =	
		container			150	
		1350 ml				
	52171	PP Lid for containers:	28 x 20 x 2	15	3 x 50 =	
		71146, 71243, 71335	==		150	
_	74242	Dostonovilov	20 20 4	20	250	
	71243	Rectangular container, 2	28 x 20 x 4	20	3 x 50 = 150	
STAIN.		compartments				
		800/500 ml				



	53172	PP DOMED Lid for container: 71243	28 x 20 x 5	15	3 x 50 = 150	
	71335	Rectangular container, 3 compartments 175/600/200 ml	28 x 20 x 4	20	3 x 50 = 150	
	52173	PP Lid for container: 71335	28 x 20 x 2	15	3 x 50 = 150	
	76116	Square container 500 ml	16 x 16 x 4	20	6 x 50 = 300	
	76124	Square container 750 ml	16 x 16 x 6	20	6 x 50 = 300	
	52671	PP Lid for containers: 76116 & 76124	16 x 16 x 1	24	6 x 50 = 300	
	53671	PP DOMED Lid for containers: 76116 & 76124	16 x 16 x 4	20	6 x 50 = 300	
•	75108	Round container 250 ml	Ф13 х 4	20	10 x 50 = 500	
9	75112	Round container 375 ml	Ф13 х 5	20	10 x 50 = 500	
	75116	Round container 500 ml	Ф13 х 7	20	10 x 50 = 500	
	52571	PP Lid for containers: 75108,75112,75116	Ф13 х 2	20	10 x 50 = 500	
	77124	Round container 750 ml	Ф19 х 4	8	6 x 50 = 300	
	77132	Round container 1000 ml	Ф19 х 5	8	6 x 50 = 300	
	52771	PP Lid for containers: 77124 & 77132	Ф19 х 1	16	6 x 50 = 300	
	79132	Round container 1000 ml	Ф23 х 4	18	6 x 25 = 150	



,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	52971	PP Lid for container:	Ф23 х 2	18	6 x 25 =	
		79132			150	

GENERAL COMMENTS ON ORDERING

PAYMENT WAY

For these goods, 100% of the amount is prepaid, based on a pre-invoice, upon assignment of the order.

DISCOUNT

After selecting the final quantities, we will notify you of the final price along with the relevant discount.

TRANSPORTATION

The prices are EXW Thessaloniki Greece or Sofia Bulgaria.

For a minimum quantity of one pallet we can organize the transport in each country in Europe.

For a **minimum amount of a container 40"** we can arrange transportation to any country in the world. In this case, please contact us for special prices.

ELLADA PACK team

www.ellada-pack.com | europe@ellada-pack.com